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Wednesday, May 24

1. Write the exﬂ?n of a line given g slope of -2 §hat
-1, 3

goes through in slope-intercept form.

2. Evaluate (without a calculator) 2%

T

Test Tutorial
using released
test
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CALCULATOR INACTIVE #1-17

1. In which table is y a function of x?

Practice EOG

A B.

Y
6
5
2
3

2. A square has an g
ore than 5 but less than 6 units

. more than 7 but less than 8 units

23 of 29 square units. Which choice below is the best estimate for the side of the square?

C. more than 14 but less than 15 units

D. more thi’ 25 but less thaq'EB units
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1,000,000,

3. Earth is approximately 93 million miles away from the sun. How could this distance be written in scientific
notation?

PSSl “Brosad’ C.9.3x 108

D.9.3x 107

4. The diameter of Jupiter is approximately 9& 10* miles. The diameter of Earth is approximately 8 x 10° miles.

Approximately how many times the diameter of Earth is the diameter of Jupiter?
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5. What is the equation of the line shown?

8. Which equation represents a linear function?

A 3x+2y=6 B.y=x*-3

7. Which table contains pairs of values for nonlinear functions?

Table A

Table B

N
Table C

X

4

Table D

May 24, 2023
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8. The graph below shows the number of errors found in a book.
y Errors per Chapter
144

121

Number of Errors

T T L] T T T T T L} 1 X
123456 7 8 910
Number of Chapters

Which gaefd oMy best fit the data?

9. The graph below shows the relation between the height from which a ball is released and the maximum
height it reaches on its first bounce.

y RELEASE HEIGHT VS. BOUNCE HEIGHT
40

w W
(=] wn

n
v

Bounce Height (in inches)
5 8

=]

o

6 12 18 24 30 36 42 48 54 60 66
Release Height (in inch

x

What can be concluded from the line of best fit?
e bounce height is 0.5 inch less than the release height.
e bounce height is 2 inches less than the release height.
e bounce height is m:ase height.

D. The bounce height is 2 times the release height.
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12. Which is the equation of the line that passes through the points (0, 2] and{1 ?)’P
W = 9x—2 By= 5x— @
- [ =
=-9H)-2 5(‘( 0 -2 )
- { Q / ) _ 5

...,I_

-

13. Find the sum of the whole numbers between /22 and

— [
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17. Which equation corresponds to the values in the table below?

X Y

/\

~ 0 -2

( —)=>
1 -5
Ly =-2%—
-
3 -1
D.y=13x-2

CALCULATOR ACTIVE

Club Membership

Costs
30 -
05 asasanans
!ﬂ} ‘E; !Uu - | : | _,r"
8 {‘E l?? e o (o ’}/"./_'
53 ) EBZEN
£ S

Time
(months)

18. The graph models the total cost of a health club membership over & months. The cost includes a one-time
application fee and a monthly charge. Based on the graph, which choice best describes the data’/

\J he application fee is $30, and the monthly
charge is $25.

ﬁhe application fee is $30, and the monthly fee is
$28.

—

B. The application fee is $25, and the monthly
charge is $30.

C. The application fee is $25, and the monthly fee is
$35.
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19. Quadrilateral ABCD is graphed below. Which line segment his a Iingth of exactly 17 units?

%2
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